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Communist revolution is only solution of present
crisis of the world. Its universal, thus, range of
communist revolution is universal.

Because, national boundary was not enough to
develop the capitalism, therefore, colonial policy
was integral part of capitalism, thus it became a
world wide system, therefore all nations became
inter-dependent. So, there is no scope for national
liberation.

Capital can not exist without reproduction &
circulation thus due to existence, the capitalist is
bound for reproduction. But result of reproduction
is over production and effect of over production is
recession.

Consequence of repeated recession is socialisation
of means of production. Thus, capitalism is the
foundation of communism. Therefore, cause of
disappearance of capitalist class is capitalism it-self.

Thus, a communist revolution for replacement of
capitalism by social/commune/ common ownership
of means of production is not possible in one
country alone.

Marx & Engels rightly formulated these theories,
when the capitalism became as an old society,
therefore, it was unable to develop the private



ownership of property that is it reached to the end of
its development, though volume of capital has been
increasing.

Principle of Communism, by Engels and
Communist Manifesto by both are not totally
wrong.

Consequence of contradiction of sellers & buyers of
labour power is socialisation of means of
production, therefore, socialist revolution is only
job of working class, and no doubt working class is
alone revolutionary in this epoch.

So, except working class, rest of all classes
including peasants are reactionary, therefore,
communist party for a communist revolution is a
party of working class.

Therefore, communist party is not local or national
but global.

United action of the leading civilized countries at
least one of the first conditions for the emancipation
of the proletariat, and unity of workers of the world
is the first and primary condition.

But 2nd International, took the line of so-called
“right of self-determination of nations”, at their
London Congress, 1896; And it was against unity of
workers of the world, rather it divided the workers
into the nations. Though, workers lost their
nationality.



Capitalist, as a buyer of labour power is an exploiter
of sellers of labour power, thus, relation of both the
classes is antagonistic. Therefore, no capitalist is
friend of working class, even if their language,
religion , race and sex is same, in spite of that
nothing is difference between the relation of buyer
& seller of labour power.

But effect of this political line of national liberation
is the local or national capitalist, has considered
as friend of working class, which is totally against
interest of working class, and it is so helpful to
confuse the workers about their class & class
interest.

Thus, the line taken by the leaders of the 2nd
International for national liberation was betrayal to
the working class of the world.

Working class have no nationality and country, but
they have a world to win by losing their chain.

But Bolshevik party was formed for the right of
self-determination and for peoples sovereignty, and
for the interest of peasants, thus by born it was not a
working class party for a communist revolution, and
it acquired the state power by a pre-planed army
coupe.

Army is not part of working class, but part & parcel
of parasitic classes. By the agreement of both the
countries , The RUSSIA of Lenin became the
market of Germany as favoured nations. Thus,



Russia, a state of state capitalism, founded by
Lenin, which was the shelter of decayed capitalism,
who was engaged in a world war due to recession
for its survival.

Lenin, him-self violated his and his party's
commitment even on constitutional assembly and
sovereignty of peoples after the defeat in the
election of constitution assembly and failure to win
in the post of the speaker of assembly .

Even Lenin hold the post of chief executive of state
but it was not included in his constitution -1918,
which is more abominable than the code of brutal
Hamburabi, the first written law giver of the world.

Rate of exploitation at USSR was much more than
USA. Therefore, the great Leninist Stalin was one
of the three important founding member of the IMF-
the mightiest finance syndicate .

Under the rule of the IMF, no state have right even
to fix & determine the tax & tariff policies, thus
state became defunct and they call it as
globalization. Therefore, nation state is dead.

Exactly by the agreement to end the 2nd world war,
the colonial policy has became unnecessary.

Under the governance of the WTO, capital and
commodity will move freely all over the world.



Thus days of state capitalism is over. Therefore,
days of Leninism is over, which is corruption of
science of socialism , discovered, formulated and
explained by Marx & Engels.

But still now capitalism is exist, but not working
and the IMF is already failed.

On the other hand working class is not unified for
emancipation.

In this case Leninism, which is for various types of
democratic revolution, in fact for gabbing the state
power, is a dangerous obstruction.

Therefore, it is must to reject the Leninism, to
rebuild the communist movement , and reconstruct
the communist party to unite the working class of
the world, and to form it as a class.

Remarkable, science of socialism is not Marx but
property of all. So, the very word *“ Marxism” is not
only unscientific, and unjustified, but it also
undermined Marx him-self. Because, he was not a
prophet but a communist and as a communist he
was for abolition of private property with all kinds
of inheritances.
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